
1) 8% of 138

Answer: ____________

2) 93% of 90

Answer: ____________

3) 4700 ÷ 100

Answer: ____________

4) 33% of 324

Answer: ____________

5) 33% of 90

Answer: ____________

6) 68000 ÷ 1000

Answer: ____________

7) 94% of 80

Answer: ____________

8) 180 ÷ 10

Answer: ____________

9) 88000 ÷ 1000

Answer: ____________

10) 92% of 493

Answer: ____________

11) 26000 ÷ 1000

Answer: ____________

12) 13000 ÷ 1000

Answer: ____________

13) 9200 ÷ 100

Answer: ____________

14) 4900 ÷ 100

Answer: ____________

15) 37000 ÷ 1000

Answer: ____________

16) 84000 ÷ 1000

Answer: ____________

17) 64000 ÷ 1000

Answer: ____________

18) 88% of 411

Answer: ____________

19) 96% of 495

Answer: ____________

20) 87000 ÷ 1000

Answer: ____________

Total: ___ / 20
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Answers:

1) 11.04 2) 83.7 3) 47 4) 106.92 5) 29.7 6) 68 7) 75.2

8) 18 9) 88 10) 453.56 11) 26 12) 13 13) 92 14) 49

15) 37 16) 84 17) 64 18) 361.68 19) 475.2 20) 87
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